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This program is intended to find real solutions of n x n systems of simultaneous, non-linear equations, for n=1,2,3.  It can handle various types of equations, including trigonometric equations (with no more than one unknown angle).  Many solutions of single equations can be displayed in either exact or approximate form.  (If the exact forms are too cumbersome, press Approx.)  This is especially handy for a trig equation.  Larger systems are solved in approximate mode.  All angular quantities are assumed to be in radians, but angles can be entered in degrees by using the degree symbol.  Solutions can be converted to degrees when appropriate.  

The unknowns must be represented by x, y, and z.  Any unknown angle must be represented by x.  The domains of x, y, and z can be set as desired.  For angles, the default domain is 0 to 2pi, but can be set by quadrants, or any values you want.  For systems of trig equations, solutions are less likely to be missed if solved one quadrant at a time, rather than 0-2pi, all at once.

Solutions are copied to the home screen, so they can be more easily used in further calculations.

This program combines many of the features of solve_n() and tsolvgrf().  Solve_n() operates similarly, but does not work with trig equations, however solve_n() will find both real and complex solutions.  Tsolvgrf() uses the same solution method, but only for single trig equations,  but it also graphs the trig function.

The program can be used for linear equations, but I don’t recommend it.  For systems of linear equations, try simul_mn() for easier input and the ability to handle dependent systems.

Since some of the data input is done in dialog boxes, I recommend that you download and install autoaoff(), by Kevin Kofler, which turns off the auto alpha lock in dialog boxes.

Copyto_h(), by Samuel Stearley, is used in the program.  Load solvnon3() and copyto_h() into the same folder, then run solvnon3().

Example:



y*cos(x)-z*cos(20º)=0



y*sin(x)+z*sin(20º)=1500



10y*sin(x-40º)=5000*cos(40º)



Solved using default domains:



x=0.96402 rad =55.23º



y=1457.7



z=884.55

